
SAP ABAP table ENT6417 {Generated Table for View}

ENT6417

MANDT [CLNT (3)]

VBELN [CHAR (10)]

KTAAR [CHAR (4)]

VKORG [CHAR (4)]

VTWEG [CHAR (2)]

SPART [CHAR (2)]

VKBUR [CHAR (4)]

VKGRP [CHAR (3)]

KTAGR [CHAR (3)]

KTAST [CHAR (1)]

KTAER [CHAR (3)]

KTAEB [CHAR (3)]

KTA01 [CHAR (2)]

KTA02 [CHAR (2)]

KTA03 [CHAR (2)]

KTA04 [CHAR (2)]

KTA05 [CHAR (2)]

KTA06 [CHAR (3)]

KTA07 [CHAR (3)]

KTA08 [CHAR (3)]

KTA09 [CHAR (3)]

KTA10 [CHAR (3)]

PARVW [CHAR (2)]

KTAFK [CHAR (4)]

T000

MANDT [CLNT (3)]

 ENT6417-MANDT = T000-MANDT 
0..N

1

TPAR

MANDT [CLNT (3)]

PARVW [CHAR (2)]

 ENT6417-PARVW = TPAR-PARVW 
0..N

{0,1}

TVBVK

MANDT [CLNT (3)]

VKBUR [CHAR (4)]

VKGRP [CHAR (3)]

 ENT6417-VKGRP = TVBVK-VKGRP 
0..N

{0,1}

TVC1

MANDT [CLNT (3)]

KTAER [CHAR (3)]

 ENT6417-KTAER = TVC1-KTAER 
0..N

{0,1}

TVC2

MANDT [CLNT (3)]

KTAGR [CHAR (3)]

 ENT6417-KTAGR = TVC2-KTAGR 
0..N

{0,1}

TVC3

MANDT [CLNT (3)]

KTAST [CHAR (1)]

 ENT6417-KTAST = TVC3-KTAST 
0..N

{0,1}

TVC7

MANDT [CLNT (3)]

KTAER [CHAR (3)]

KATEB [CHAR (3)]

 ENT6417-KTAEB = TVC7-KATEB 
0..N

{0,1}

TVCA

MANDT [CLNT (3)]

KTA01 [CHAR (2)]

 ENT6417-KTA01 = TVCA-KTA01 
0..N

{0,1}

TVCB

MANDT [CLNT (3)]

KTA02 [CHAR (2)]

 ENT6417-KTA02 = TVCB-KTA02 
0..N

{0,1}

TVCC

MANDT [CLNT (3)]

KTA03 [CHAR (2)]
 ENT6417-KTA03 = TVCC-KTA03 

0..N

{0,1}

TVCD

MANDT [CLNT (3)]

KTA04 [CHAR (2)]
 ENT6417-KTA04 = TVCD-KTA04 0..N

{0,1}

TVCE

MANDT [CLNT (3)]

KTA05 [CHAR (2)]
 ENT6417-KTA05 = TVCE-KTA05 

0..N

{0,1}

TVCF

MANDT [CLNT (3)]

KTA06 [CHAR (3)]

 ENT6417-KTA06 = TVCF-KTA06 

0..N

{0,1}

TVCG

MANDT [CLNT (3)]

KTA07 [CHAR (3)]

 ENT6417-KTA07 = TVCG-KTA07 

0..N

{0,1}

TVCH

MANDT [CLNT (3)]

KTA08 [CHAR (3)]

 ENT6417-KTA08 = TVCH-KTA08 

0..N

{0,1}

TVCI

MANDT [CLNT (3)]

KTA09 [CHAR (3)]

 ENT6417-KTA09 = TVCI-KTA09 

0..N

{0,1}

TVCJ

MANDT [CLNT (3)]

KTA10 [CHAR (3)]

 ENT6417-KTA10 = TVCJ-KTA10 

0..N

{0,1}

TVKBZ

MANDT [CLNT (3)]

VKORG [CHAR (4)]

VTWEG [CHAR (2)]

SPART [CHAR (2)]

VKBUR [CHAR (4)]

 ENT6417-VKBUR = TVKBZ-VKBUR 

0..N

{0,1}

TVKK

MANDT [CLNT (3)]

KTAAR [CHAR (4)]

 ENT6417-KTAAR = TVKK-KTAAR 

0..N

1

 ENT6417-KTAFK = TVKK-KTAAR 

0..N

{0,1}

TVKO

MANDT [CLNT (3)]

VKORG [CHAR (4)]

 ENT6417-VKORG = TVKO-VKORG 

0..N

1

TVKOV

MANDT [CLNT (3)]

VKORG [CHAR (4)]

VTWEG [CHAR (2)]

 ENT6417-VTWEG = TVKOV-VTWEG 

0..N

1

TVTA

MANDT [CLNT (3)]

VKORG [CHAR (4)]

VTWEG [CHAR (2)]

SPART [CHAR (2)]

 ENT6417-SPART = TVTA-SPART 

0..N

1

VBUK

MANDT [CLNT (3)]

VBELN [CHAR (10)]

 ENT6417-VBELN = VBUK-VBELN 

{0,1}

1


